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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

T.B.C. : P-AQNA-L-ZNGU - Test Booklet Series

Serial No.

932493 TEST BOOKLET

MATHEMATICS
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300
 INSTRUCTIONS |
. 1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOUL

CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY BE
IN THE APPROPRIATE PLACE IN THE ANSWER SHEET.

3. You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

4. This Test Booklet contains 120 items (questions). Each item is printed bath in Hindi
and English. Each item comprises four responses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item. |

. 5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet. .

6. All items carry equal marks. |

7. Before you proceed to mark in the Answer Sheet the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet. ‘

9. Sheets for rough work are appended in the Test Booklet at the end. !

10. Penalty for wrong answers : I

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THEi
OBJECTIVE TYPE QUESTION PAPERS. .

{ij There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third (0-33) of the
marks assigned to that question will be deducted as penalty. |

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even'
if one of the given answers happens to be correct and there will be same penalty as!
above to that question. !

- (iii) If a question is left blank, i.e., no answer is given by the candidate, there will be'
no penalty for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
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1. If 3 is the root of the equafiion 4, If ' . ’ )
x? -8x+k =0, then what is ithe 3 17" 11 .
value of k? \ A= 0 4 and ]B?[O 2] a

I
(@) -15 |' then which of the following is/are
| correct?
b 9 ; 1. AB is defined
' "2. BA is defined
(). 15 w 3. AB=BA \ .
|l ‘ Select the correct answer using the
(d} 24 | code given below :
!
I Code :
|

2, Two straight lines x - 3y-2 =q and () 1 only

2x-6y-6=0 ' (b) 2 only

{a) never intersect [ (c} 1 and 2 only

(b) intersect at a single poinlc
! 5. Using the digits 1, 2, 3, 4 and 5 only -
once, how many numbers greater
than 41000 can be formed?

(d) 1,2 and 3

{c) intersect at infinite number of

points
[
| faj 41
{d) intersect at more than, one
point (but finite number of (b} 48
points) : () 50
| (d) 55

3. If (a, 0), (0, b), (1, 1) are collinear, )
what is (a + b - ab) equal to? 6. If an angle « is divided into two parts

l' A and B such that A- B=x and
tanA:tanB=2:1, then what is

(@) 2 ! sin x equal to?
® 1 f (@) 3sina
! (b) (2sinw)/3
¢} O I .
: | fe) (sino)/3 }
(d) -1 : {d} 2sina
l *
P-AQNA-L-ZNGU/66A ! 2
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w 1. AR wfmm x2? ~8x+k =0 % T 0 4. 3R i =
- 3 E, A kW AA w87 11
| o] o)
fa) -15 aﬁﬁq%ﬁaaﬁﬂaﬁnm/@iaﬁ%/%?
b 9 1. ABUfoafE B \i 3
2. BAqfonfya g i
c) 15 3. AB=BA '
IR R M g W owEm %{ R IW
{d) 24 Eﬁ"l t;
[ - *i
' 2.8 wWa Wd x-3y-2=0 aﬂ'{ (a) Fe 1 |
2x—-6y-6=0 (b) FAA 2 ,%
{c) aw 1 32 ";
(a) w¥ wfe=ad 2l & @1 293 |
' i
u farg W v € ’
- ® 3 smﬁ1234aﬂtsaﬂ%ﬁa@‘m
. wﬁn W §C 41000 # a-gft forart
(c) ¥ aers frgett m wleddl 8 , s et o e 37 .
@ w ¥ afuw (g o= wETs) (a) 41
forgait @ wfi=d £ (b} 48 '.
(c) 50 ‘a‘
(d) 55 ",
3. IR (a, 0), (0, b), (1,1) W& & @ |
(@+b-ab) T AR TR 6. - A FE F% o T W A a1 B H 36 THR
ffm fF wrar @ B A-B= \x 3R
fa) 2 tanA:tanB=2:1, d sinx %H‘a?
T 87 t '
i & 1 (a} 3sino ';
) © (b} (2sina) /3
- : () (sina}/3
{d) -1 (d) 2sinc
P-AQNA-L-ZNGU/66A ‘ 3 [P.T.O.
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7. A man standing on the bank of a .' 10. The vector a lies in the plane of \o
river observes that the angle of ' b

elevation of the top of a tree just on
the opposite bank is 60°. The angle _
of elevation is 30° from a point at a ‘ (@ 3-(bx2)=0
distance y metres from the bank.

What is the height of the tree?

vectors b and ¢. Which one of the *
following is correct ?

(b} d-(bx2)=1
fa} y metres
®) 2 . {c) 3-(gx3)=—1
Y metres
([d) a-(bx2)=3

{c} —J—S—g metres

11. What is the projection of the vector

Yy at- AR
(d) -, metres 1 —2j+k on the vector4i -4 j + 7k ?

8. If P, Q, R are three non-collinear 2
points, then what is PQOANPR
equal to? ! (b) 19
) 9 .
{a) Null set
' V5 .
(b} (P} @ &
¢) {F QR 11
© P, Q R) @ U
{dj {Q R}

12. Which one of the following

9. A B, C Dand E are coplanar points: statements is correct ?

and three of them lie in a straight

line. What is the maximum number {a) sin? 30°, sin? 45°, sin® 60° are
of triangles that can be drawn with in GP

these points as their vertices?

{b) cos? 30°, cos? 45° cos? 60° are

fal 5 ' in GP
(b) 9 | (c) cot? 30°, cot?45°, cot? 60° are
' in AP
{fc) 10
(d) tan? 3(°, tan? 45° tan? 60° are B
(d) 12 : in GP
P~-AQNA-1-ZNGU/66A ) 4
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P

0 7. fret 8 ¥ e Tl oF orfe 3Ear @ T
: 3 A fem W H ™ I F B =
FE-H 60° 1 R 8 y Al A gl

10, wftw 2 56 @@ § ? Rt b T B
Fr=fafea § @S- @ W@ 'Y I.

R TF g A IRE-H 30° ¥ Ig H (@) d-(bx2)=0
&9 91 RY . .
() d-(bxd)=1 .
(@) yHR *
) @-(bx3q)=-1 |
(b) 2y H '.
. (d) d-(bx3j=3 :
(c) %’f?‘& .
|

11, WRw{-2j+Kk &, GRW 41 -4+ 7Tk W
(d) grﬁr«:{ NAT w87 !
@ 1
8. 7R p, O R 9 o fg & A 19 ";
PO A PR ¥ 1 37 Cay i
(@) T wqem J5 :
€ - ‘,
() (P} v;
11 ‘
(0 {P, Q R} (d) 3 E

(d) {Q R} : . Ili
12. FrafaRed # @ 9w o w0 TR X7 |
9. A, B, C, D 3R E wrgeha firg & sl ‘

& T g tm o gl @) sin®30°, sin’45, sin? 60

A ¢ s e R By @R GPHE ‘.

3 ’ |

ST w77 (b) cos? 30°, cos?45°, cos? 607,

% ".

@ 5 GP# & ‘

b)) 9 fc) cot?30°, cot?45°, cot? 60°i_|

AP T & .

10 !

{C) (d) tan?3c°, tan?45°, tan?60°,

(d) 12 GPHE ;
P-AQNA-L-ZNGU/66A ' 5
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13. If sum of squares of the roots of the
equation x2 +kx~b =0 is 2b, what
is k equal to? :
fa) 1
(b} b
¢} ~b
(d) 0O .

14, If one root of the equation
ax? +bx+c=0, a#0 is reciprocal
of the other root, then which one' of
the following is correct?

(aj a=c
(b} b=c¢
()] a=-c

(d) b=0 <

15. If ® is the imaginary cube root of
unity, then what is (2—w+2m2)27

t

equal to ?

(@) 3%
(b) ~327 2
(¢) 327

(d) -327

P-AQNA-L-ZNGU/66A r
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16, What is the modulus of
1 1

?

143 1-3i

(a)

I

(b) —

fc0 —

(d)

17. Let M be the set of men and Ris a
relation ‘is son of defined on M.
Then R is
fa} an equivalence relation
(b) a symmetric relation only

fc) a transitive relation only

{d} None of the above
18. What is the locus of the point

which is at a distance 8 units to the
left of yaxis?

fa) x=8
(b) y=8
) x=-8
d y=-8
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- "; 13, afR Wl x2 +kx-b=0 & T &
7l & A 26§, [ kB AW T RY

fa) 1
(b} b
{c) -b

d 0

14. I @il ax? +bx+c=0, az 0 FI

W T g 9w geed 8,
fraffes § @ S99 T g8 27

fa} a=c

() b=c
{c) a=-c

({d) b=0

15. IR T F FAEE THE o 8, @
2 - m+2w%)27 = AF T &Y

@ 3?70
(b) _327 (02
(€ 3%7

(d) -327

P-AQNA-L-ZNGU/66A
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16.

1 1 mm‘ﬂl%?
1+31 1-3i

3
(a) '5-

(b} —

(¢ —=

17. 7 AR B M et w1 Ege & SR

3

|

W oY H O R MW afenfi B

a9 K

(a) & GoIdl WEH 2

(b) FA T Wik Ty R

(c) T TF TS THI-Y 2

(d) I® % ¥ BE T

I
1
!
J
|
|
I
1
'
|

!

18. yaaﬁmsmqﬁmﬁmﬁﬁgw

forgaw = 21
@ x=8
(b) y=8
() x=-8

() y=-8
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19. The number 10101111 in binary 22, If A, B, C are non-empty sets such A
system is represented in decimal that ANC=9®, then what Iis .
system by which one of the {(Ax BYyn(Cx B) equal to ?
following numbers? '

. faj AxC
(a) 157
(b} AxB
(b) 175
{f¢/ BxC
c) 571
(c) @ o
{d) 751
23. If A={4n+2|nis a natural number} .

20. There are 4 letters and 4 directed 3? dB=h{?n_| n;s agamralintun;ber},
envelopes. These 4 letters are ran- en what is {A N B) equal to’
domly inserted into the 4 envelopes. 2 . '
What is the probability that the (6] {12n%+6nin is a natural
letters are inserted into the number }

corresponding envelopes? * .
(b} {24n-12|n is a natural

(@ 11/12 | | number}

(b} 23/24 fc/] {60n+30jn is a natural .
l number}

{c) 1/24

(dj {12n-6|n is a natural

{d) None of the above number }

L | 24. If the matrix
21. The average daily income of workers

of a factory including that of the « B

owner is ¥ 110. However, if the A =[ jl

income of the owner is excluded, P o

the average daily income of the

remaining 9 Workers is ? 76, What is such that A2 = I, then Wthh one

is the daily income of the owner? of the following is correct? '
{a) T 300 L fa o=0,B=lora=1B=0

(b) ¥ 316 | () a=0,Bzlora=0 =1

{¢) ¥ 322 . fc) o=LB20ora=1 p=0

(d) ¢ 416 | {d) a=0,820

P-AQNA-L-ZNGU/66A 8
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|
4.’19%—&%@%%@10101111 22?11%31&?5@%&1/;30@%%
TymeE g 6 fraftiRas et | @ ANnC=o, ?ﬁ(AxB)m(CxB)Eh‘rﬂﬂ

fore w & g0 el gt 37 1 27 |

{a) 157 , faj AxC I.

(b) 175 ' (b) AxB l

{c) 571 ¢t BxC T

(d) 751 @ o |

20. 4 FEM4 AR TS IA4 T H 23. WﬁA—{4n+2|nQ$m‘1?fm%}3ﬁ'{

4 Toraret § aefswan s B2 s ) B={(3n|n T Wy wem ¥, @
TR 1 Wi @ % 3 v g forwret (A~ B) fras wwem 37 !.
=@ 7 =
{a) {12n2+6n|n@ﬂ?qgfﬁm%}
fa) 11/12
' (b) {24n-12|n @m@fﬁw%}
(b} 23/24
0 1/24 (c) {60n+30|n qaatmyfm%}
() ke & & B (d) {12n-6|n @m@m%}
i
21, Bt B & whafd B shad o, 24 TR ;
i # o A e & gy, W Az[a {i] :
7 110 31 frg aR mirs & sma = = B o ;
e W, A T2 ge 9 wEnEt L
aﬁ'aaammfiﬁglmﬁ R fE A=y, @ P @ @
AFE 3T T B7 F-T T et &7 7
(a} ¥ 300 {a) Cl=0,[3=13'{9ﬁTa=1,B‘;-_-0
(b) ? 316 (%) a:O,B;thTWOt#O,BIi=1
fc) ¥ 322 {c} a:l,BiOMWa#LBFOi
{d) T 416 (d o#0 B=0 |

P-AQNA-L~ZNGU/66A 9
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25. What is the sum of the focal

distances of a point of an ellipse
2 2
X +£— =17?
a’ b

{a a

(b) b

(¢ 2a

{d} 2b

26. What is the degree of the following
differential equation?

2
3.1\3 2
g__!i +4_3M_+5iy_=
dx® dx? dx

fa} 1
(b) 2
fc) 3

d 4

27. What is the sum of

J§+71_§+§_j_§.+--- >
o 2
(b) ?
{c) 2—?
(df J3

P-AQNA-L-ZNGU/66A
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' 28. What does the differential equation ‘: )

dy
e o =
ydx X

(where a is a constant) represent?

' {al A set of circies having centre
on the yaxis

{b) A set of circles having centre
on the x-axis
A set of ellipses

. fc)

{d) A pair of straight lines

29. If

A_ccO dB—lO
1o M OEE

-

such that A? = B, then what is the
' value of a ?

fa) -1
b} 1
(c) 2

(d) 4

30. What is the wvailue of n, if
P15, n-1): P(16,n-2)=3:47

faj 10
b} 12
fe) 14

(d) 15
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" iy 25. TRl i
z_j+g§=1
& w fag ot it gfe & 9o & 7
{a) a
b) b
¢) 2a
(d) 2b

(b) ——

fc)

d) 3

P-AQNA-L-ZNGU /66A
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dy
—+x=a
Yix

28. 37 WU i
(&t o @ e R) wn Pefia w 87

(a) y-axaxmwmrﬁﬁ\;m@
qg=

(b) x-3F W Fxy TA q%ﬁ\aﬁ"@
= |

(c) gl w1 T T
(d) & @t w1 0 W

F
29, IR |

a 0 10 '
SRS

WIFRERF A2 =8 i« AR T
&7 |

5

|
@) -1 |
@) 1 |
) 2 |
@ 4 "l
:

l .
30. IR P15, n-1): P(16, n-2)=3:4,

@ n H AR T RY |
(@) 10 l.

i
(b) 12 :
{c) 14

{d 15 |
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31. What is the value of the determinant
xX+1 x+2 x+4

xX+3 x+5 x+8|7?
x+7 x+10 x+14

x+2

(a)
(b} x2+2

c) 2

(d)

32. Consider the following statements in

respect of the function

flg=x3-1, xe[-1, 1]

1.  fix}is increasing in [- 1, 1]

2.  f(x} has no root in {-1, 1)

Which of the statements
above is/are correct?

{fa) 1 only
fb) 2 only
¢ Both 1 and 2

f{d} Neither 1 nor 2

P-AQNA-L~-ZNGU/66A
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given
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33. The largest value of

2x3 - 3x%2 -12x+5

for -2 £ x €2 occurs when

{fa) x=-2
() x=-1
fcf x=2
{d x=0
34. What is
o2
01 +2sin? x
equal to ?
{a) =
T
b =
(b} 3
T
C —
(c] 73
2n
dl —
(d} Ve
35. If 5 and 7 are the roots of the
equation
x 4 5
7 x 7|=0
5 8

then what is the third root?

{fa) -12
(b) 9
{c)

{d} 14




i
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33, 2<x<2 & ﬁ"lq2x3-—3x2lf—1-2x+5
mﬁwmwﬁm%,ﬁ‘

" 31 W

x+1 x+2 x+4
xX+3 x+5 x+8

x+7 x+10 x+14 (@) x=-2 | %
(b x=-1 ¥
%1 W R0 87 "
fc) x=2 |
fa} x+2 (d x=0 t
o
2 49 [ frur R
o) x=+ 34 I°1+23in2x ‘I
!
- (@) = ;
c) 2
|
1 |
(b} 3 L
(@) -2 -
n !
{c) 7—5 L
2n II
(d) —= i
32. BH fix)=x3 -1, xe[~1, 1] % fom & '.
% Fafafae sw w fem i Cod
1. Fix, [-1, 1] % atfam 2 ss. 4P atET | ’
2 fF A (-1, 1) F R x 45 |
: 7 x 71=0 |
Ioe wUl # o wH-T /R T g/EY 5 8 «x f
(@) ¥EE 1 F 7@ 5 ol 7 &, A e @ ¥
(b) FEE 2 @ -12 ’:
(b) 9 :
(c) 132
[c) 13
() ID1MIA 2 (d) 14 :

P-AQNA-L-ZNGU/66A 13 [ P. T. 0.
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36. In a GP of positive terms, any term
is equal to one-third of the sum
of next two terms. What is the
common ratio of the GP?

V13 +1

(a)

ﬁ
X B

(b) 1

2

Ji3+1
3

(c]

(@) V13

37. If (1+tanB)(1+tang) =2, then what

is (6 + p) equal to?
{a) 30°
(b) 45°

(c) 60°

{d) 90° 7

38. If f(x) is an even function, then'
- what is !

I:f(cos x) dx '
equal to? !

{fa) O

(v) jg Flecos x) dx
() 2]'05 Flcos x)dx ,
d 1 | |
P-AQNA-L-ZNGU/66A
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39. What is the value of k for which the‘ ’
system of equations kx +2y =5 and
3x + y =1 has no solution?

faj ©

(b) 3

¢ ©

(d) 15

40. In how many ways can 6 girls be

seated in 2 empty chairs?

fa) 10

(b} 15

fc) 24

(d) 30

41. What is the value of

9 27 3\,

fa) 3
(b) 2
g 1
(d) ©

42, Which term of the series

is —128?
(@) 9th
(b} 10th
(c) 1lth

{d) 12th
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. 36, YFTOTE Wl i ©F GP § &8 ff 1@ A
W&l & A #1 uh-Toer 21 GP w1 wE

I1aTa = 87

(@)

{b)

(c)

(d) 13

37. 3% (1+tanb)(1+tang) =2, & (8 +¢)
Toreres e 87

(a} 30°
(b) 45°
(c] 60°

(d) 90°

38. AR f(x) T a9 T g, o
J.gf(cosx)dx

fores =R &7

(@ O

() j{f Flcos x)dx

(c) 2j§ Flcos x)dx

(d) 1
P-AQNA-L-ZNGU/66A
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39. k @ 9% HA @ 2, ﬁuﬁamm
el kx+2y=5 @ 3x+y—l EFI
s T A2 27 |

a} O ;
(b} 3 !
{c] 6
{d)y 15 L

|
40. eagi%sq‘iaﬁzaraﬁgﬁﬁmﬁﬁ'
¥ fergrn <1 v 87

o 10 |
(b} 15

{c) 24 l
(d) 30 i

\
41. loglo(Z] loglo[§2)+loglo[§-) !

T w7 |

fa) 3 :
(b) 2
fe) 1
[d o

|

a2. i X, _1 1w Feewm w128
4’ 2 |
?7 ‘
|
(@) o=t Ii
(b} 10l |
e} 11af f

(d) 12af
|

[PIT.O.
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43. What is the number of ordered pairs 46. What is the middle term in the‘
of non-zero positive integers (x| y expansion of .
such that x+y<4? 8

x

| (1-3) 7
(@ 4

i 4
(b) 5 (a) 35x

8

(c) 6 |

‘ 17x3

l (b)
{d} 8 8

! 35x°

44, In the binary system of numbers (c) 3
let a=00111 and b=01110, th?n
in decimal system what is b/a
equal to? (d) None of the above

:
fa} 1 47. What is the sum of the roots of the
‘ equation
(b} 2 o
2-V3)x? -{7-4/3)x+(2+3)=0?
{c) 4
| fa) 2-3
(d) S
(b} 2+3
* t
45. 1If () 7-443
i
o, 1.1 (d) 4
b-a b-c a ¢

48. What is the total number of
combinations of n different things
taken 1,2, 3, ..., n at a time?

then a, b, c are in

(a) AP ; (a} an+ 1 I
(b) GP : b) 2 2n+1 '
(c) HP | fcg 2n-1
{d) None of the above fd) 27 -1

P-AQNA-L-ZNGU/66A i 16

https://previouspaper.in '




https://previouspaper.in

@_ |
WP 43, P e o F B g (x, g B |
: © ’ X FRemAma e |
. ) vEm w ¢ A x+ y <4 T 46. [1 2] :
(a) 4 (@ 35x? | 1
(b) 5 |
17x°
fc) 6 (b) 3 |
35x
(c] 3
44, fg-snud wgfa # genat § o #ifse f&
a=00111 2R b=01110, A TTHe (d) ITIE A A F
9gfd ¥ b /o Foress so=t 87
@ 1 47. THiEM ‘
2-43)x? - (7-4J/3)x +2+3)= 0,
{b) 2
% T A = 7 .
c) 4 |
@ 2-43
[d) 5 !
(b} 2+3
c) 7-443 , |
45, = i
1 1 11 (d) 4 |
—_ =
b-a b-¢c a c¢ &
@M a b, c 48, n i agat & 1, 2, 3, ...,nqa:a'rtlﬁ‘
A g T i Ho HE 1 87
(@) AP#E
(a) 2n+1
(b) GPﬁ% (b} 22n+l !
() HP # § (c) on-i
. i
(d) 39 A A g T (d) 2" -1 |
P-AQNA-L-ZNGU/66A 17 [P.T. Q.
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49. One of the roots of the quadratic
equation ax2+bx+c=0, a#0 is
positive and the other root is
negative. The condition for this to
happen is

faj a>0,b>0,¢c>0
(b) a>0,b<0,¢c>0
fcl a<0, b>0,¢c<0

fdl a<0,¢>0

F

50. If the solution of the differential
equation

£=Gx+3
dx 2u+f

represents a circle, then what is the
value of a ?

fa) 2
(b) 1
fc) -2

(d -1

|
51. IfA, B, Carein APand b: c=+/3: /2,
then what is the value of sinC?

() 1

{b)

al-

P

(c)

(d)

-

P-AQNA-L-ZNGU/66A
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52. The points with position vectors Q

10f +3j, 12{-5}, ai +11j |
are collinear, if the value of a is |
{a) -8 ‘
(b) 4 |
{c) 8 ‘

{d 12

53. What is the sine of angle between the
vectors { +27+ 3k and - + 2 + 3k ? i

13
o

J13
® =

13
(c) ﬁ

(d) None of the above
54. If
sin(sin'1 é +cos™} x) =1
then what is x equal to?
faj © )

(b) 1

{c)

|+

(d)

|-
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i
@ |

O 40, Tl wfEm ax? +bx+c=0, az 0 ® 52. f&rfa wfewd 100+ 3], 120~ 5], al +11]

- T Tl VHTTE § AR O RO | | FRg R, aR awm A A |
T % fore = wierg 87 |
{a} -8 rl
fa} a>0,b>0,¢c>0 b 4 ‘I
(b} a>0,b<0,-c>0 c) 8 I|

[C} a<0,b>0,c<0 (d) 12 i F
(df a<0,¢c>0 .'

§3. wREl [+2]+3F O —i+2j+3k ¥
‘ = F F T sine T RY '
50. I} ATH THIEW |

@=ax+3 (@) _1_3_ 1 4

dx  2y+f - 7 ll |
=1 & UF gd Bl el o §, 9 a3 o Vi3 !
1 w1 87 — .
|

b
@ 2 @ 2 !

N7 o
(b) 1 !
fc) -2 (d) 3w % ¥ BE T '|
!
(d} -1 : |
54, Ife |
' (11 - '1
51, AR A, B, CEAP T3 b:c=v3:2, Sl“(sm lg’f‘m 1x)=1 1
A sinC &1 TH F1 87 '
A x T AE =T 27 $
{a) 1 |
fa) O |

) = o
J3 (b) 1 |
|

4 Pt
) V3 € < :

1 1 ‘I f
@ % @ 3 |

P-AQNA-L-ZNGU/66A 19
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S5S5. What is 58. What is the condition that one root 01. o
o ) ! the equation ax? +bx+c=0, a# 0
logla+va*“ +1)+log| ———oor— ' should be double the other?
a+vVa? +1
(@) 2a% =9be
equal to?
; (b} 2b? = 9ac
@ 1 ©) 2% = 9ab
(b) 0 ' fd} None of the above
e} 2 : . .
59. Consider the following with regard to
d 1 f a relation R on a set of real .
) 2 , numbers defined by xRy if and
only if 3x+4y=5:
56. 5 books are to be chosen from a lot 12 R;
of 10 books. If m is the number of 2. 1R=-
ways of choice when one specified 2
book is always included and nis the 3. 2 R 3
number of ways of choice when'a 3 4
specified book is always excluded, Which of the above are correct?
then which one of the following is I i
correct? ; (a) 1 and 2 only :
b) 1 and 3 onl
fa) m>n (b Y
{c] 2 and 3 only
B m=n

| (d 1, 2 and 3
fcg m=n-1

(@) 5 60. The function
m=n-—

Flx) = ksinx + %sin 3x
57. Which one of the following 'is

g . has maximum value at x = =. What
correct in respect of the function 3

S0 =]xi+ x? 2 is the value of k ?
{a) f(x)is not continuous at x = 0 (@) 3

|
(b) fix) is differentiable at x ='0 (b) 3
{c) f(x) is continuous but 'not (c) 2

differentiable at x =0 ,
(@ 2 '

{d) None of the above ' 2

P-AQNA-L-ZNGU/66A : 20
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55. log(a+\ﬁa + ]+log[
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£l

a+\’a2 +1]

A F91 87

fal 1
(b} ©

fc) 2

1
@ 3

56. 10 T & X § | 5 TR & G121 -
IR ok iy s ) wda1 g | g
% ot f venm m ¥ ol ww
T bl WaaT g | e WA W g
¥ atiel 1 T=m o 2, @ FefaRea 3 4
F-H1 T T 27

fa) m>n
(b} m=n
{fc) m=n-1

{d m=n-2

57. ®aq flx) =|x|+ x2 & fwm § fafafas
# A BH-91 F a9 a7

{o) x =0 f(x)&adT& g
(b) x =0 flx) JeFerT

) x=0 W flx @ &, Feg
e 7 2

(d) 3w A 9 B T
P-AQNA-L-ZNGU/66A 21
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IL
t

|

|

|

|

|

|

|

|
60. ®cd Si{x)=ksinx +%sin3x %lT
T

58. ¥flE W ax? +bx+c=0, az0 ® TH

w@wmﬁ,mmﬁl%?
fa) 2a? = 9bc : !
(b) 2b? = 9ac
(c) 2¢2 =9ab !
(d) 9w & 4 HE T |

59. mﬁamﬁ%@wmqﬁﬁﬁa

G =Y R, nyaaaﬂrmmﬁaa
3x+4y=5, é}smﬁﬁﬁﬂ%ﬁaﬁm
fram Aifs

1. OR1 .

1

2. 1RL :
2
3. 2R3
34

S § @ wE-0 87
fa) ¥A 1 3R 2 |
(b) FaA 1 3R 3
(c) Fad 2 AN 3
(d) 1,233

aﬁzmm;::%qtél k ® WA 3
2?
(@) 3 '

(b}

M=

fc} 2
1
(d} 3

(P.T.0.
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61, What is _[sin'l(cosx) dx equal to?

(a)

where k is a constant of integration.

62. If o and B are the roots of _' the
equation 4x? +3x+7=0, then
what is the value of (@™ + p72)?

{a) 47/49
(b) 49/47
(c) —47/49

(d] -49/47

63. What is the equation of thé line
passing through (2, -3}’ and
paraliel to yaxis? ’
(@ y=-3
b) y=2
fc) x=2 '

fdj x=-3

P-AQNA-L-ZNGU/66A |
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fa) {(2, 0), (-2, 0), {0, 2)}

(&) {(0, 2), (0, -2}

(c) {0, 2), (2, O}}

{d) {2, 0), (-2, 0), (0, 2), (0, -2}

65. Consider the following statements :

1. The inverse of a square matrix,
if it exists, is unique.

2. If A and B are singular
matrices of order n, then AB

is also a singular matrix of
order n.

Which of the statements given
above is/are correct?

{a) 1 only

(b) 2 only

fc) Both 1 and 2

{d) Neither 1 nor 2

64. What is the set of points (x, y). '
satisfying the equations x? + y? =4
and x+y=27
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. !
@ 61. Jsin"l(cosx)dx?ﬂmqw%? ' 64. it x2 +y? =4 TN x+y= 2 H
, gge w0 9™ fagatt (x, y # Hgaa

(@) %"—-—x—;-m Rl |

) (@ {2, 0), (-2, 0), (0, 2}

{b) E+-x—+k: . |

2 2

() {(0, 2), (0, -2)) |

(c) LS -

2 2 () {(0, 2), (2, O}

2 |
(@) -tk @ {2 0), (-2, 0}, (0, 2), (0, 2}

7] k U G A9 B

62. 7R whFW 4x? +3x+7=0 F @ . |
aaﬁ_{B%,?ﬁ(a_g_FB_g)mmw 65. Fm=fafgn FuAt w f=m Hiflm . ]

27 1. % o Sg B oA, A (98
foremm &, @ wifidig R |
(a} 47749
2. At AR B, nHE &

(b) 49/47 IR &, ?hABsﬁnﬁ%\

c) -47/49 goFHOltT ST 3 r

@ -49/47 s el i & AT/ T 2/ II

: I

63. (2, -3) ¥ TR FEH W y-aw F (a) e 1 ‘

T Y@ 1 g 1T &Y 4

|

fa) y=-3 (b) FAA 2 ‘I

' I

b) y=2 |

Oy fc) 13T 2gA i

() x=2 [

(d) x=-3 (d) 1A 2 |

i

P-AQNA-L-ZNGU/66A 23 | [P.T.O
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66. What is the angle between tlLte 69. If A={1, 2, 5, 6} and B={l, 2, 3}, . )

lines whose direction cosines then what is (AxB)Jn({BxA)

are proportional to (2, 3,4) and equal to?

(1, -2, 1) respectively?

(@ 90° | (@ {(1, 1}, (2, 1), 6, 1}, (3, 2)}

(b) 60° , (b) {(1, 1), (1, 2), (2, 1), (2, 2)}

(c} 45°

, ¢ {(1, 1), (2, 2)}
(d) 30°
(d) {{(1,1), (1, 2), (2, 5), 2, 6} .

!
67. What is the value of k for which
the following function f{x) is
continuous for all x? !

P-AQNA-L-ZNGU/66A 24

https://previouspaper.in

x3 -3x+2
— = for x=#1
flx)= (x - 1)2 [
k for x=1 70. What is the differential equation of
all parabolas whose axes are
fa) 3 parallel to yaxis?
b) 2 !
{b) 43y
(a) 5 = 0
‘ {c) 1 dx
t
‘ fd) -1
2
r (b} d“x =0
68. If p, q, r are rational numbers, then dy?
the roots of the equation
2 2 2 2
-2 — - =
x px+p* -g° +2qr-r 0 d3x
[ e —=1
dy3
are
!
{a) compiex
g LY.
(b} pure imaginary ! (d) dx? =c
{c} irrational
! -
{d} rational where ¢ is a constant.
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® |
@ 66 fm YEnil f Rg-Fe (2, 3,4) o
(1,-2,1) F FN: GAEAF 8, I

= w1 o7 T4 &Y
fa) 90°
(b) 60°
c) 45°

(d) 30°

67. k &1 98 9 w1 g, fows fou Feafafea
FAH f(x), x % Bt W % forw weda v7

flx) = %’{%’;—;g, x#1 % fom
k v x=1 % fom

(a) 3

(b} 2

€ 1

[d -1

68, AR p, g, r T TEANW ¥, @ FiEww@
x? —2px+p2 -g° -i-2qr—'r2 =0

& T

(o) widmE

(b) o HE &
{c) st g

(d) wierg 3
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I
1

69. IR A=1{1, 2, 5, 6} 3 B= {12 34,
#I(AxB)n(BxA}ﬁ:aﬁ:aWI%?

! :
{a) {(1: 1]: (21 1)! (6! 1): (3!' 2}}

|
() {(L, 1), (1, 2), (2, 1), (2,{2}}

K

(@ {1, 1), (1, 2), (2, 5), 2,8}

(e {1, 1}, (2, 2}}
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For the next five (5) items that follow ;: 73. What is the total strength of the . )
class?

The students of a class are offered three '
languages (Hindi, English and French). '
15 students learn all the three languages {a) 124
whereas 28 students do not learn any

language. The number of students learning .

Hindi and English but not French is twice (b} 100
the number of students learning Hindi and,
French but not English. The number of

students learning English and French fc) 96

but not Hindi is thrice the number of

students learning Hindi and French but (d) 66

not English. 23 students learn only Hindi' )

and 17 students learn only English. The

total number of students learning French

is 46 and the total number of students 74. How many students learn English
learning only French is 11, \ and French?

! 30
71. How many students learn precisely (@)

two languages? _

. (b} 43
fa) 55 .

' {cj 45
fb} 40 . /
© 30 |-' (d) 73
(d) 13

' 75. How many students learn at least

one language?
72. How many students learn at least

two languages? |

' {a) 45 .
fa) 15 !
- {b) 51
(b} 30 f
{C) 45 ! {C} 96
(d} 55 ' (d) None of the above
P-AQNA-L-ZNGU/66A ' 26

https://previouspaper.in




https://previouspaper.in :

|

® , |
@ s gt (3) w3 R ; 73. el 6 Fof TE-wE fhe 77

| o war ¥ FE A A A (R, s s | |

F) @ S 3115 BE Wi d ae dan ¥ fa) 124 L
wafe 28 B 1 W 7E diad) =Y o sish o
e firg $9 7 e O BE i EE T o (b) 100 .

£ dem A o 3 S R o e dad E g .
Sl 1 ) s o e drEd feg e !

c} 96 ‘
) T T A de = S f wen ¥ A ) !
TH 3 S = ol Bu e § foeg ewsh D 66 '
Hradl 23 B Fad o<t dimd 2 X 17 o ()

et 3N | B HEy I Bl H TS T 46 | -
3 3 Faw $9 diEd 9 BEt A d@n 11
2

1
74, Fra o0 S ol be B 37| )

[
i
F
|

71. frm on d 3 @ v g £ (@ 30 | : |
(@) 55 ®) 43 .‘
(b} 40 {c) 45 I‘.J .
() 30 @ 73 | *‘
(d 13 L

75. %ﬁmm-ﬂ-m@m@ﬁ@%?? ,
72. @ o HA-8-F9 < v diaa 7

I

(a) 45 5'

(@ 15 %

) 51 |

(b) 30 |

I

(c) 45 (c) 96 Iw

i

(d) 55 (d) ITH T Y BIg AH |
P-AQNA-L-ZNGU/66A 27
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76. If

— (7 amn
I, —_[[;tan xdx
then what is I, +1,_, equal to? ’

(@ 1/n :
(b) 1/(n-1j
(¢} n/(n-1)

(d) 1/(n-2) :

77. What is the equation of the line °
joining the origin with the point of |
intersection of the lines 4x + 3y =12
and 3x+4y=127

faj x+y=1
b x-y=1
fc 3y=4x !

(dl x=y ,

r

78. If the sum of the squares of the
distances of the point (x, y) from
the points (a, 0} and (-a, 0) is 2b2,
then which one of the following
is correct? k

r

2

fa) x +c:¢2=l72+yr2 '

b) x2? +a? =2b? - 42 '

(c) x2_a2=b2+y2 '

(d} x2+c12=.bz-y2 '

P-AQNA-L-ZNGU/66A 28
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79. If f(x)=2%,
equal to?

then what is f"'(x)

(a) 2*(ln2?
(b) x{x-1)2%"2
fc) 2**1in9)

(d) 2%(log,,2)?

80. In an examination, there are 3
multiple-choice questions and each
question has 4 choices, If a student
randomly selects an answer for all
the three questions, what is the
probability that the student will not
answer ail the three questions
correctly?

fa} 1/64
(b} 63/64
fc) 1/12

(d 11/12

81. What is the geometric mean of the
data 2, 4, 8, 16, 32 ?

(a) 2
(b) 4
c) 8

(d) 16
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|
|

® 79. 3R flx) =2%, A f'(x) %H%?ar'rat%?
2 !
Ip = |%tan” xdx
n =g tan” x (a) 2%(In2)2 i
I, + 1, ek a3 !
(b) x(x-1)2*"2" 1
{a} 1/n I
2x+11 2 T
®) 1/(n-1) 27 2 :
f.
) n/in-1) (d) 2%(log,,2)? !
@ 1/(n-2)
‘80, TH wan #, sagﬁmmﬁaﬁtm
77. [Ag ® Wi 4x+3y=12 3R mﬁz;ﬁm%[aﬁu‘a;mmg%a;
3x+4y=12 & W=3e Gg ¥ fem wﬁmﬁfﬁquﬁi%%qwmm
et T s aHiER = R? mﬁ,?ﬁgﬂﬁmmﬁm%%w
mmﬁ?ﬁqmﬂaﬁmﬁm%‘f%?
faj x+y=1 l ,
f
b) x-y=1 (a) 1/64 1
() 3y=4x (b) 63/64 l] '
|
(d) x=y (¢ 1/12 o
(d) 11/12 o
78. AR frgell (o, 0) K (-a, 0) ¥ Firg |
(x, y) F gfet % Tt ;1 A 2b2 2, ' i
fr=tefa 3 8 wE- ?
1 e 81. &3l 2, 4, 8, 16, 3zamgur‘ratmw
(a) x2+r:12=}:)2+_1,r2 w8l .
2 |
() x2+a2 =2p% -y @ :
(b) 4
) x?-a%?=b%+4° ll
¢/ 8 !
{d) x?+a?=p%-4° (d 16 |
P-AQNA-L-ZNGU/66A 29
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82. What is the cumulative frequency
curve of statistical data commonly
called?

{a) Cartogram

(b} Histogram

(¢ Ogive

(d)

Pictogram

83. If Aand Bare two mutually exclusive
events, then what is P{AB) equal
to?

{a) 0
{b) P(A)+ P(B)
{c) PlA) P(B)

(@) P{A)P(B|A)

84. If x =sin®+cos6 and y=sinb.cosH,

then what is the value of

x¥ —4x%y-2x2 +4y? +4y+17?

{@) 0
) 1
€ 2

fd) None of the above

P-AQNA-L-ZNGU/66A
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85. What is

lim Wa2x2 +ax +1~-va?x2 +1)
X

equal to?

(a)

[N

(b} 1
{c)
(d)
86. What is

' J-sin-\f.;

J;d.x

equal to?

cos ‘\/E

fa) —

+C

(b) 2cosx+c

—cosx
ZEBNE 4o

: (c) >

(d) —2cosvx+¢c

where cis a constant of integration.

87. Which one of the following is the
unit vector perpendicular to the
vectors 41 +2j and -3i +2] ?

30
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... .
82. wifewd e ¥ d=oft aroaman % ®) 85. lim Wa?x? torsi- Ja )
I T HEd 87 X300 .
: Foroes st B7 i
i
(o) T " % ;
(b} feedmm B o1 ‘n |
!
(c} s ied fc) 2 |
(d} T {d 0 ‘} :
86. j‘Sii‘/_‘/Idxﬁmﬁsw%? \ ,
83. IR A 3R B wEw vasi wead ¥, @ * '
P(AB) foreeh st 87 . cosJ¥+c \ |
2 1 [
{a} O .
(b} 2cosvx +c ;
(b) P(A)+P(B :
(c) P(A) P(B) 4
(d) —2cosJx+c |
(dj P{A)P(B|A) _ ‘.
S8l ¢ U AT TR &1 |
i
1
84. IR x =sinb +cosh 3N y=sinb.cosh, 87. fmfafad & @ $F-w1 @, 4 "‘21 3ﬁ-{
A x? —ax2y—2x2 +4y% +4y+1 F —31+2;Hﬁ¥ﬁmaram'§aﬁmi%?
A F§? P4+ L
“ R |
(@) O . ,
b I i
b 1 V2 \‘
{c) k
fc) 2 .
@) i+j+k
(d) S A q FE 3
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88. Consider the following statements in 'For the next four (4) items that follow : .
respect of the vectors ' )
4 R JABC is a triangle right angled at B. The
=(1, 2, 3), u,=(2, 3, 1) . ;
u = 2 v S _hypotenuse (AC) is four times the

Uy =(1, 3, 2) and &, = (4, 6, 2] : perpendicular (BD) drawn to it from the
opposite vertex and AD < DC.
1. E']_ is parallel to 34 '

—> . - r
2. u, is parallel to u,
o o 91. What is one of the acute angles of the
3. u, is parallel to u;

triangle?
Which of the statements given '
above is/are correct? - fa) 15
(a) 1 only r (b) 30°
b 2 ' -
v fc) 45°
(¢} 3 only
(d) None of the above
{d) 1 and 3 .
89. The line mx + ny =1 passes through 92. What is angle ABD?

|
|
‘ the points (1, 2) and {2, 1}. What is
the value of m?

' fa) 15°
(a) 1 ’
b 3 : {b) 30°
© % ' fc) 45°
) | {d) None of the above
(d) 3

93. What is AD: DC equal to?
90. What is the solution set for the’ atis 4 ©

equation x* -26x% +25=07? '

, faj (7-2J3):1
(@ {-5 -1, 1, 5} ,'
(b) (7-443):1 '
b} {-35, -1} ‘
(c) {1, 5) . () 1:2
(d) {-5, 0, 1, 5} ' (d) None of the above
P-AQNA-L-ZNGU/66A 32
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® |
@ gs. whw 7 =(1, 2, 3), uy=(2, 3, 1),

AT WK (4) T & o
U3 =(1, 3,2 M U, =(4, 62 &

o — —

foremr ® Frefirfaa seat o faem Aifs ABC TF B R @a&m e fays 81 ot (AC)
1. oy, U, & gara 81 39 W fqulia wid @ e ™ @4 (BD) a-rrar{ulm
B, % #ft AD < DC. .
2. Ez2’-‘:‘5)4%‘51":"'71'{% |
3. Uy, Uy % BHARR B |
I wEl & D FA-A/A T A 91. e % =7 Foi § ¥ w FH-T 17
(@) ¥ 1 (@ 15° ‘ o
(b) 2 - ,:
c) Fad 3 i
{c] 45° ‘
(d) 133 .
(d) 3age B T FE T

89. @ mx +ny=1fgatt (1, 2) M (2, 1)
¥ T 1 m 1 AT R 92, T ABD T ¥ |

(@ 1 '.
b) fa} 15° |
3 i
1 (b) 30° '.
(c) 5 .
fc) 45° ’
1 |

(d) 3

(d) I T QA L T

90. Twiww x? -26x2 +25=0 # T&- 93. AD: DC form suan 7

HgE F1 87 | |
(@) (7-2J3):1 |
(@ {-5 -1,1, 5} ‘i
-4J3) |
(b} {~5, -1} (b) (7-443): 1 :
e} {1, 5} () 1:2 :
(d) {-5, 0,1, 5} ) = 0 L |
|
P-AQNA-L-ZNGU/66A 33 PT.b.
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94. What is tan{A - C) equal to? ' 97. If, in general, the value of sinA is ..
' known, but the value of A is not
{a) O ' known, then how many values of
tan(A /2) can be calculated ?
(b} 1 '
fa) 1
fc) 2 (b) 2
(d) None of the above - fc) 3
(d) 4

95, What is the radius of the sphere’
2

x*+y?+2% - x-y-2=07? ' 98. Consider the following :
' - 2 n
1. cosec”™}--=|=-=
3 ' cosec [ \/ﬁ) 3
o} =
* | 2. sec™! [-i) =z
' J3) 6
1 '
{b) 5 Which of the above is/are correct?
, {a) 1 only
{c) E ’ (b) 2 only
| {c) Both 1 and 2
d) % . (d) Neither 1 nor 2

99. Consider the following statements
with regard to correlation coefficient r
between random variables x and y:

96. An experiment consists of flippingra
coin and then flipping it a second

time if head occurs. If a tail occurs 1. r=+1or -1 means there is a

on the first flip, then a six-faced die linear relation between x and y.
is tossed once. Assuming that the 2. -1<r<1andr? is a measure
outcomes are equally likely, what'is of the linear relationship
the probability of getting one head between the variables.

and one tail? ' Which of the statements given

' above is/are correct?

@ 1/4 |
{fa) 1 only
(b} 1736 : () 2 only
fe) 1/6 : {c) Both 1 and 2
[ 1/8 ,' (d) Neither 1 nor 2
P-AQNA-L-ZNGU/66A ' 34
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94, tan(A - C) Frus STt 27
{a) O
(b) 1
) 2
(d) I § B/ F A

95. M x2+y2+22-—x—y-z=0 $i
B @ 27

3
() J;

EE

3
(c} ‘g

1
L

96. TF WA UF {4 1 IV W, I AW
I ofman %, @ 3/ UF SR e =
B ARt Tt Toe 4 =9 ot , @ %
we e JI UIHI U W) T W1 R 198
T g T wft ahom @R wmE

& MY 3 TR 75 UM A T Wi
&7

(@) 1/4
(b) 1/36
c) 1/6
(d) 1/8
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[

f
1

97. aﬁmmrqamsmAmmm% g
A 1 TR T AR 2, a‘tw,tanm/z)%a
%aﬁmq’mﬁla%qwm%?

(a) 1
(b} 2
{c) 3
(d) 4

ek o | FH-w/d gl 2/E
(a) FFA 1

(b) Fa 2

fc) 13 2TH
(d) Id@1ad2

C m——
—————

|
|
90. Wgfo® S x O y ¥ o wEGEH
Wr%mﬁﬁﬁaﬁ?@amﬁm
foram shifsr i

1. r=+1aqw-1$13wf%%
xaﬁtyasaﬁaqa?‘tﬁﬁw%s

2. -1<r<1 3 72 % aﬁi
Was w11 1 w9 ‘:
Iwf T A w2 h 3
fa) ¥ 1 .
(b) FaT 2 {

fc) 13 2aA
(d) =_ta‘t1aﬂt=fiﬁz
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100. If the values of a set are measured
in ¢cm, what will be the unit of
variance?
fa) cm
(b) cm?

) em?3
(d} No unit

101. A box contains 6 distinct dolis.
From this box, three dolls are
randomly selected one by one
with replacement. What is the
probability of selecting 3 distinct
dolls?
faj S5/54
(b) ¥2/25

fc) 1/20

(d) 5/9

102. For the equation

ax? + by? +2hxy+2gx+2fy+c=0

where a# 0, to represent a circle, |

the condition will be

a=band ¢c=0

{a)
(b} f=gand h=0
fc) a=band h=0 ,

{dl f=gandc=0

P-AQNA-L-ZNGU/66A
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'103. If A and B are events such that

' P(AUB)=0-5, P{B)=0.8 and
' P{A| B} = 0-4, then what is P(A N B)
equal to?

{a) 0-08

(b} 0-02
c] 0-8

@ 0.2

104. Consider the following relations
among the angles o, i, y made by a

vector with the coordinate axes :
1. cos2c¢ +cos2B +cos2y=-1
2. sino+sin?B+sin?y=1

Which of the above is/are correct?

{a} 1 only

(b} 2 only
r ¢} Both 1 and 2

{d} Neither 1 nor 2

105. Which one of the following points lies
on the plane 2x+3y-6z=217?

: (a)

3,2, 2)

(b} (3,7, 1)

¢ {1, 2, 3)

€ (2,1, -1)
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L
@ 100. =f% frdt 9= % 79 cm ¥ AW WQ ¥, 103.aﬁAaﬁthz:{r€wm§:{%

4t s i TS T it P[AUB)=0-5 P(B)=0-8 3K
' P(A|B)=0-4, @1 PAnB) freF
(@} cm TR 27 |
(b} cm? {a) 0-08 r
¢/ em? (b} 0-02 '
(@) g (c) 0-8 |
@ 0-2

' I
'
101. T 4g% ¥ 6 F= feal #1 w0 wgw @ | ﬂ
I fedl aewdn w-w WS 104. T wfew g Povs wed @ o m R
'q'(,

TIRA F @ =3t 9 21 3 fw 1 o, B, y F s Feferieaa et
TR & e Y i 27 forem e | |
. 1. c0320£+0052|3+0032~{=-—1|
fa) 5/54 r
2. sin2a+sin2B+sin2'f=1]
(b) 12/25 !
I A ¥ FA-T/ wd /87 ;
fc) 1/20
(a) ¥4 1
d) 5/9 !
fh) FaA 2 i
:
Loz, c) 13 2
ax2+by2+2hxy+2gx+2fy+c=0 {d) W1 MAd 2

I|

T& =0, @ F0 B | R/, @ }
. i T B 105. fr=foRaa fagst § @ -1 vs, game

2x + 3y—6z=21W§? |

@) a=b3Me=0 . |
fa) (3,2, 2) _

b =g3Mh=0 I
b) f=g b 6.7 1) i‘
c) a=b3M h=0 © (1,2, 3) ]'
{d) f=g3WMc=0 d 2,1, -1) |
i
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106. What is the acute angle betwleen
the ©planes x+y+2z=3
2x+y-z=117?

and

(a)
(b)
(c)

(d w/3

107. What is the area bounded by the
curves y=e*, y=e * and the
straight line x =17

{a} (e + —1] square units
e/
(b) (e - —) square units
{c) [e +— = 2] square units

{d} |e—-—~- 2) square units

108. What are the points of intersection of

the curve 4):2«95;2 =1 with its

conjugate axis?

(@) (1/2, 0} and {-1/2, 0)

(b) {0, 2) and (0, -2)
{¢/ (0, 3) and {0, -3)
(d) No such points exist \

P-AQNA-1L-ZNGU/66A
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109. What is the locus of a point which .

moves  equidistant from  the

coordinate axes?

fa) xty=0
(b) x+-2y=0
fe) 2x+y=0

{d) None of the above

110. What is
J‘ex[«f.)_c + —1—de
2Jx
equal to?

{a) xe* +c
b) e*Wx)+c
(c) 2e*(Wx)+c

{d) 2xe* +c¢

where cis a constant of integration.

111. Let p, g, r, s be respectively the
magnitudes of the vectors 3 —2_}',

2Q0+27+k, 4i-j+k, 20+27+3k.
Which one of the following is
correct?

(a) r>s>qg>p
()] s>r>p>q
(c)

r>s>p>gq

{d) s>r>g>p




https://previouspaper.in

.. 106, @Al

109. ¥ wt A T g v T AR g

X+y+2z=33 2x+y-z=11 1 fergue ¥ §2 |
% offe =g = 47 (@) xty=0 ,
faj m/3 (b) x+2y=0 o
/s ‘ fc) 2x+y=0 .‘I'
fcg n/6 o w8 .;l
@ /3 . .,

1 - i
107. FH y=¢¥, y=e ™ N a@ Wl x = 1 110. J.e"[,/}?+ de B ;%?

2x
¥ T gam 2oree = B7 "
fa) xe* +c l‘,
{a) [e+ )aﬁﬁé o
, (b} e*(Vx)+c '
1

) (e-;]aﬁsesri () 2e*WF)+c

e

{d) 2xe* +¢

el ¢ UF aHTEer AR 31 |

—
&
1]

|

|

!
[ Jv]

—

111. meﬁm%uﬁ:ﬁaz 25, zft+2j+}€:
~j+k, 2;+2;+3k%¢&mwm

108. T 4x2 -9y =1 % w@H Gyt Wy @ %2@{%:% aaﬁq%fmﬁﬁaaq-m
wfrede forg = &7 |
(@ (172, 0) 3 (~1/2, 0) fa) r>s>q>p :
(b) (0, 2) 3T (0, -2) b) s>r>p>gq '.
) (0, 3) 3R (0, -3) fcj r>s>p>gq L

(d) m e forg 7 2

{d s>r>qg>p

P-AQNA-L-ZNGU/66A 39 [P!T. O.

https://previouspaper.in




https://previouspaper.in

112. In a triangle ABC, if ¢=2, A= 120", Foi‘ the next two (2) items that follow : i )

a =6, then what is C equal to? ,
The following table gives the continuocus

frequency distribution of a continuous

fa)  30° variable X :
(b} 435° Class Interval | 0-10 } 10-20]20-30) 30-40 | 40-50
Fregquency 5 10 20 5 10
fcj 60°
(@ 75° 114, What is the median of the above
' frequency distribution?
fa) 23
118, [ nes Interval] 15 | 6-10 11-15{16-20 ' (b) 24
Frequency 3 7 6 S
fc) 25
Consider the following statements ,'
in respect of the above frequency , (d) 26
distribution :
1. The median is contained in the
modal class.
2. The distribution is bell-shaped.
115. What is the mean of the above
Which of the above statements . frequency distribution?
is/are correct?
{a) 25
fa) 1 only
{b) 26
{b) 2 only
{c) Both 1 and 2 (cl 27
{d} Neither 1 nor 2 (d) 28
| P-AQNA-L-ZNGU/66A 40
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Q 112. B ABC #, 3R c=2, A=120°,

a=+6, M CFrad s 27

fa) 30°

b) 45°

c) 60°

(d} 75°

113.
= amarer | 15 | 6-10 [ 11-15[16-20

[T 3 Tps 5

IR @ W awawa ¥ % faww A
fraferfan wumt w famw fife .

1. Tt agadhE of 7

2. a'zqwzmz_%l_

o el & R A
fa) a1

(b) a2

c) 132 =M

[dy I ;aﬂw‘a‘m
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IR A (2) T S o

ﬁm%ﬁgawﬁ%sﬁmmxaﬂm

IR 527 & 2

i

“\
1
\

1 araae

0-10

10-20

20-30

3040 140-50

HREETET

10

20

5 10

g7

(a)

(b)

(c)

(d)

}
i
’.
115. wﬁﬁnﬁammdammw%?
‘.
i

(a)

(b)

{c)

(d)

23

25

26

25

26

27

28

'i

1
|
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116. If the matrix

2-x 1 1
A= 1 3-x O
-1 -3 -x
is singular, then what is the

solution set S?
fa) S=1{0, 2, 3}
(b) S={-1,2, 3}
() S={1, 2, 3}
(d) S={2, 3}

117. What is the range of
f(x) =cos2x ~sin2x?

(@) [2,4]

(b) (-1 1)

(c) V2, ¥2]
(@) (-2, ¥2)

118. What is the solution of
differential equation

Y. o
(a) sin"! y+sintx=c
{b) sin™! y—sin"1 x=c
(c) 2sinty+sin"ix=c
lx=¢

(d) 2sin~!y-sin~

where ¢ is a constant.

P-AQNA-L-ZNGU/66A

T, .
z=1+cos—+1isin—
5 5

then what is |z| equal to?
{a} 2(:03%

(b} 23in-7-r'5-

fc) 2cos—11'£-0

LT
d) 2sin-—
(d) 10

120. If xi+yj+zk is a unit vector and
x:y:z=+/3:2:3, then what is the

value of z?
3
(a) 16
(b} 3

(c)

lw

(d) 2

42
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.X 116. IR =g

‘ 119. 3f? '
2-x ! ! - n .. = ' '
A= 1 3;x 0 Z—l+cos§+1sm-5- |
-1 -3  -x |
At |z| P w27 ‘
S B, @ T -HE=a S w1 RY !
(e} S=1{0, 2, 3} | fe) 2cosT -
() S={-1, 2, 3} | 1|
fc S={1, 2, 3} |I
(b} 2sinZ
{d) S={2, 3} 5

117. f(x) = cos2x - sin2x %1 TUE F7 87 (c) Qcos_l%
(a) |2 4]

() -1 1]

© L33 2] (d) 2sin%

(d) (—Ji: "/5}

|

|

!

118, 39w g 1.
' i

d 1- 2 . . . . !
?ih 1 =0 120. AR xi+yj+zk T T wRw ¥ e,

x x:y:z=J§:2:3,?ﬁz¥ﬂWﬁT%?

T &Sl T 87 |

3 |

Q) = !

fa) sin~!y+sin~lx=e¢ @ 16 !
1

ll

) sin"'y-sinlx=c |

(b) 3 "

|

{cg 2sin"!y+sinlx=c :

3 1

fc) 7 !

(d) 2sin"ly-sin"lx=c /

)

Bl ¢ T I 2 ’ (d 2 .
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